App lication: Mafeix Compte fion

M Fixed nyn  matrix W/ Fank@)=r «n.

Problem Given a randsm s bset o()
{h+r:15/ howr 11‘9 2}7[-'.——\_ q'tLl Ml"‘l./jj
Q’HLr'; 157

Amz]’,ca‘]"jo'«; N Retof‘wmana[!r/ 5y/(/0m5/ Xq%,t ;MP\,?‘A/.‘M/
Santor "'r;qnjvla‘JL,"an__,

A}?\JW\ Q.

@ EQCA M';L(/ {; Vi llﬂ/(&[ .I‘VLAQICAJ"I'/// “// f/-.L. /?.
@ M\ (s ,‘Preaa, Poas M I i = max (M‘.jJ £ /
9)
™
‘/l’( Simp lie I'fy

Lg'f' ‘\(\,_: {\/MW() G.r\"ILl',' e;j < {l/ Y\jX{b...ﬂ%
M= Z ’C‘;z) (i,j)e L

("/)')éJl
ObSQKVZZ J?'Mﬂ: M

vinbiased estimater

bv'} ’;TM’Q is & Furible osTimate o/ ~“ |

Weide —II;—M_n_:/Vu 7z 2= T M- M
4 N
I'd aulk-r’ (6adsn no(rlr.‘,(
Matriy

Estimate m: Mz P(Mr2) = arma u-prely
/V

fanblor)e ¢
Prbj getion on to fe?l

M 0\( canf-r ~=lricts
==
N

-




[

(R

/‘/ob‘/ /61/ 4 15 erfor //,.;(\,M///;?

0é7lrvl ;

) f«nb(’?*"’l)i 2
) N1/ - ]| el =-3m) + -3,/
< 2///""‘7/'4[1_ // (cmtk Fhis >

Takts ¢ W+ of wer ke

= 2[=Z|]
)+@ =
M M// - Yo 7 (4 - "’l)? < m-mll - ?r¥§rl (%>
1 Ne——
riax ‘J‘/l
\/-w./ug

'_:> Tb 1’70""\} Cfrbr/ w2 o*\/l/ VlCLJ -/l é""""( [/Z//
Cost |- F’”% = Z‘L) = 5/'4;}- wp, %
Gy —p

\/V\[)'/C_/ b)/ asfemption,
FN2e5 My €]

2
> =zl < cn w.hp.
(13)/ P gy ot Fhe et hods fri 414;;)
Tkui/ V”"j @4)/

?

dfj }/M"M))Fi C % V'/'A'P-
e nt

en¥ )/




Case & 14 Z8 VSt mati - Brems flin f
—_EL\”‘Z\_ (CLH!(!/ V"\q_"'fi/: BQI’*\;#Q}q/ff;)

Ld— \Ll/ )(M be jnd,

mran-2L02 , N, )(.172/

fathl’v\ W\q'lfl‘cej' fup‘posé
IX ek wn , may fIEEXXT ] ) 4E XX A}C0
Tthf),
™M _ '61/2
V(HZXL //z/c)_t.(n,mz) ¢ Xp (m)
3
[om}/u/ 11-/'—/ 0/7.
7\ RJ«r,‘,,ﬂt(l
V-m/(
e
Z = 2 2, f/,iej = é)(l)
ith basiy Vet
Ciy = e—l)"’l,) W p 7
- Mi)‘ p -7
= (Kijle 5iMlL=4 =K
6—2
X K — 2
EXUX(—)- = E(Z‘)) ¢; e < (2{!»27//4,,/ e, e
}72
£ Pee
*:_?éfXﬂ(, < ii/?e;erzipfsll_
Y, 7 >t 5 i
S)M;[”’/}’ for £ EX{)?‘/(FJ'

2
= J = n
7 4




M_\q%/';)( BU'\HL('I"\I'

2

= AZI74) £ 2 exp { " >

ﬁ’_

[ 77

2 =) £CF -

(%) gives w.hp,
N 2
/1M = )l < C?f: ls96) = C 2 [y (=)
h’L

-\,\/L\Q/Q M:—Pnlz = E/.# of \/,‘4../51 (»-‘//;lﬁ/



